Buyer (Importer)

## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-60283-6838542392618

**VERIFY.FTGS.US** Date: May 29, 2025

Seller (Exporter) UNION GMP INC. 2262 Larimer St	Transport Type Vessel	Port of Loading Los Angeles
Denver	Destination Country	Destination Port
CO 80205 United States	Hong Kong	HONGKONG
Consignee	Export Date  ***********************************	Exporting Carrier **********************************
BEVERLY GROUP LIMITED  Hong Kong, Sheung Wan, 91-97 Jervois St, Tung Lee Comm  BLDG	Import Permit Number	Bill of Lading / AWB ************************************
China	Owner or Agent ************************************	Forwarding Agent ************************************

Remarks

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
/ffiek WOMEN'S PROBIOTICS CAPSULES(40)19720PCS	473.28kgs	United States
	Net: 315.52kgs	
Bulcli Gold Liquid Calcium Softgel(120)19980PCS	3956.04kgs	United States
ETIO GL	Net: 2637.36kgs	
Bulcli BRAIN BOOSTER SOFTGEL(60)21400PCS	963kgs	United States
	Net: 642kgs	
Bulcli Cranberry Complex Probiotic Capsules(30)20000PCS	405kgs	United States
CERTIFICATE OF ORIGIN	Net: 270kgs	
end of products		
20 Alan SEDERATION		



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
   The above-mentioned goods originate in the country(ies) specified above and comply with the rules of
- origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

# LA-C00-60283-6838542392618/May 29, 202

## **COMMERCIAL INVOICE**

Valid time

within 180 days

Exporter: U-Brilliant Nutra Tech INC. Consignee: BEVERLY GROUP LIMITED

INVOICE NO:

875213282

INVOICE DATE:

02-March-2025

DESTINATION

OFUNLOADING:

Hong Kong

This contract is made by and between the Buyers and the Sellers, whereby the Buyers agree to buy and the Sellers agree to sell the under-mentioned goods subject to the terms and conditions as stipulated hereinafter:

NO	DESCRIPTION	EXW PRICE (USD/pcs)	QUANTITY (pcs)	TOTAL AMOUNT(USD)
1	Vffiek WOMEN'S PROBIOTICS CAPSULES	3	19720	59160.00
2	Bulcli Gold Liquid Calcium Softgel	3	19980	59940.00
3	Buldi BRAIN BOOSTER SOFTGEL	2.5	21400	53500.00
4	Bulcli Cranberry Complex Probiotic Capsules	2.7	20000	54000.00
	Total( USD)	226600.00		



# LA-C00-60283-6838542392618/May 29, 202

### **PURCHASE AGREEMENT**

Contract No.: <u>20250320003</u>

Date: 3/20/2025

Buyer (Party A): <u>BEVERLY GROUP LIMITED</u>

Address: FLAT/RM B3 19/F, TUNG LEE COMMBLDG, 91-97 JERVOIS ST, SHEUNGWAN,

**HONG KONG** 

Contact Person: zhouqingping

Phone: (852)9326 3350

Seller (Party B): <u>U-Brilliant Nutra Tech INC.</u>

Address: 1303 E Arapaho Rd, Richardson, TX 75081, UNITED STATES.

Contact Person: <u>hongjinguo</u> Phone: <u>469-388-8678</u>

### 1. Product Information

Product Name	Specification/Mod el	Quantity	Unit Price (USD)	Total Price (USD)
Vffiek WOMEN'S PROBIOTICS CAPSULES(40)	40Granules/bottle	19720	3	59160.00
Bulcli Gold Liquid Calcium Softgel(120)	120Granules/bottle	19980	3	59940.00
Bulcli BRAIN BOOSTER SOFTGEL(60)	60Granules/bottle	21400	2.5	53500.00
Bulcli Cranberry Complex Probiotic Capsules(30)	30Granules/bottle	20000	2.1	54000.00

Total Amount: USD 226600.00

### 2. Delivery Terms

1. Delivery Date: 4/27/2025





- 2. Delivery Location: 1303 E Arapaho Rd, Richardson, TX 75081, UNITED STATES.
- 3. Shipping Method: vessel transport
- 4. Freight Responsibility: Buyer / Seller (please select)

### 3. Payment Terms

- 1. Payment Method: Wire Transfer / Check / Other: Wire Transfer
- 2. Payment Schedule: <u>4/27/2025</u> (Example: 50% deposit within 7 days after signing the contract, balance before shipment)

### 4. Quality Standards and Inspection

- 1. Products must meet national standards and/or the technical requirements confirmed by both parties.
- 2. The buyer shall complete the inspection within 7days upon receipt of goods. Any quality issues found must be reported to the seller immediately for resolution.

### 5. Breach of Contract

In case of breach by either party, the breaching party shall be liable for any resulting damages, including but not limited to direct and indirect losses.

### 6. Force Majeure

Neither party shall be held liable for failure to perform due to force majeure events such as natural disasters, wars, or government actions. The affected party must notify the other party immediately and provide valid proof.

### 7. Dispute Resolution

Any dispute arising from or relating to this contract shall first be resolved through friendly negotiation.

### 8. Other Terms

This contract is made in two originals, with each party holding one copy, both having equal legal effect.

It becomes effective upon the date of signature and stamp by both parties.

Buyer (Party A):	Seller (Party B):
Authorized Representative::	Authorized Representative:

Date: 3/20/2025 Date: 3/20/2025



packing list					
	3/2/2025				
SELLER:	INVOICE NO:	INVOICE NO: 875213282			
U-Brilliant Nutra Tech INC.					
CONSIGNEE:	Contract No:	Contract No:20250302002			
BEVERLY GROUP LIMITED					
DESCRIPTION	вох	QUANTITY	N.W.	G.W.	
Vffiek WOMEN'S PROBIOTICS CAPSULES	206	19720	315. 52	473. 28	
Bulcli Gold Liquid Calcium Softgel	209	19980	2637. 36	3956.04	
Buldi BRAIN BOOSTER SOFTGEL	223	21400	642	963	
Bulcli Cranberry Complex Probiotic Capsules	209	20000	270	405	
TOTAL:	847	81100	3864.88	5797.32	

